KASNEB

CPA PART Il SECTION 5

ADVANCED FINANCIAL MANAGEMENT

THURSDAY: 26 May 2016. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)

(b)

In the context of appraisal of capital investments under conditions of uncertainty, explain four limitations of utility
analysis. (8 marks)

Planet Ltd. is considering undertaking a 20-year project which requires an initial investment of Sh.250 million in a
real estate partnership and whose present value (PV) of expected cash flows is Sh.254 million. Planet Ltd. has the
option to abandon the project any time in the next five years for Sh.150 million. The variance in the present value
(PV) of the cash flows is 0.09 and the S-year risk-free rate is 7%.

Required:

(i) The net present value (NPV) of the project including the option to abandon the project. (10 marks)
(i) Comment on the results of your analysis in (b)(i) above. (2 marks)
Note:

1. The Black-Scholes Option Pricing Model

C =P, N(d)) - Pc N(d>)e ™

Where: Ps
In + (4+0.58%)1
P,
d| =
sVt
dg = d| =8 VT
2, The Put-Call Parity Relationship

P=C-P;+Pe"
(Total: 20 marks)

QUESTION TWO

(a)

Biashara Ltd. wishes to invest in stocks M and N in two different industries. The following information relates to the
two stocks:

Stock M Stock N
Expected return (%) 18 16
Standard deviation (%) 8 6
Beta coefficient 1.80 1.50
Amount of money invested (Sh.) 1,200,000 800,000
Required:
(i) The expected portfolio return. (4 marks)
(ii) Explain the effect on the portfolio risk if the returns of stocks M and N were perfectly positively correlated.
Include suitable calculations. (6 marks)
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(b) Mapeni Ltd’s investment fund comprises four major projects. The details of the projects are as follows:
Project Market value Expected Standard Cocfficient of correlation
of the fund (%) return (%) deviation (%)  with the market
1 28 10 15 0.55
2 17 18 20 0.75
3 31 15 14 0.84
4 24 13 18 0.62
The risk-free rate is 5% and the market return is 14%. The standard deviation of the market return is 13%.
Required:
(i) The beta coefficient of the investment fund. (4 marks)
(ii) By comparing the expected return and the required return, advise whether Mapeni Ltd. should change the
composition of its portfolio. (6 marks)
(Total: 20 marks)
QUESTION THREE

On 1 January 2016, Mavuno Limited was in the process of raising funds to undertake four investment projects. These projects
required a total of Sh.30 million.

Given below are details relating to the four investment projects:

Project

ocO®m >

Required initial Internal rate

investment of return (%)
Sh. *million”

8 26

7 16

9 20

6 22

Additional information:

1.

The company had Sh.9 million available from retained earnings as at 1 January 2016. Any extra equity finance would
have to be sourced through an issue of new ordinary shares.

2 The market price per ordinary share on 1 January 2016 was Sh.25.60 ex-dividend. Information on earnings per share
(EPS) and dividend per share (DPS) over the last 6 years is as follows:

Year ended 31 December 2010 2011 2012 2013 2014 2015
EPS (Sh.) 4.5 4.8 4.9 5.2 5.5 6.0
DPS (Sh.) 2.5 2.8 2.9 3.0 3.2 3.5

3 Issue of new ordinary shares would attract a floatation cost of Sh.4.60 per share.

4. 9% irredeemable debentures (par value of Sh.1,000 each) could be sold with net proceeds of 95% due to a discount on
issue of 2% and a floatation cost of Sh.30 per debenture. The maximum amount available from the issue of the 9%
irredeemable debenture would be Sh.4 million after which debt could only be obtained at 12% interest with net
proceeds of 90% of par value.

5 10% preference shares can be issued at a par value of Sh.80.

6. The company’s capital structure, which is considered optimal, is as follows:

Yo

Equity capital 45
Preference share capital 30
Debenture capital _25
100

7. The corporate tax rate applicable is 30%.

8. The company has to exhaust internally generated funds before raising extra funds from external sources.

Required:

(a) The levels of total new financing at which breaks occur in the weighted marginal cost of capital (WMCC) curve.

(2 marks)

(b) The weighted marginal cost of capital (WMCC) for each of the 3 ranges of levels of total financing as determined in

(a) above. (10 marks)
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(©)

(i) Advise Mavuno Limited on the project(s) to undertake assuming that the projects are divisible. (6 marks)

(ii) Determine the optimal capital budget. (2 marks)
(Total: 20 marks)

QUESTION FOUR

(a)
(b)

With reference to corporate valuation, describe the importance of enterprise value (EV). (6 marks)

Huge Ltd. intends to take over Tiny Ltd., another company in the same industry. Tiny Ltd. is expected to post earnings
of Sh.86 million next year.

If Huge Ltd. acquires Tiny Ltd., the expected results of Tiny Ltd., for the next three years will be as follows:

Year after acquisition

Year 1 Year2 Year3

Sh. “000” Sh. “000” Sh. “000”
Sales 200,000 280,000 320,000
Cash costs/expenses 120.000 160,000 180,000
Capital allowance 20,000 30,000 40,000
Interest charges 10,000 10,000 10,000
Cash to replace assets and finance growth 25,000 30,000 35,000

From year 4 onwards, it is expected that the annual cash flows from Tiny Ltd. will increase by 4% each year into
perpetuity.

Tax is payable at the rate of 30% and this tax is paid in the same year the profits to which it relates are earned.

If Huge Ltd. acquires Tiny Ltd., it estimates that the gearing after the acquisition will be 35% measured as the value of
debt as a proportion of the total equity and debt. After the acquisition of Tiny Ltd., Huge Ltd. would have a cost of
debt of 7.4% before tax and a beta of 1.60.

The risk-free rate is 6% and the return on the market portfolio is 11%.

Required:

(i) The offer price for Tiny Ltd., if Huge Ltd. were to value Tiny Ltd. on a forward price earnings (P/E) multiple
of 8.0 times. (2 marks)

(i1) The weighted average cost of capital (WACC) for Huge Ltd. after the acquisition of Tiny Ltd. (2 marks)

(ii1) The offer price for Tiny Ltd. using a discounted cash flow (DCF) based valuation. (10 marks)

(Total: 20 marks)

QUESTION FIVE

(a)

(b)

Discuss four techniques that a company might use to hedge against the foreign exchange risk involved in foreign
trade. (8 marks)

Jasper Ltd. is a company based in Nairobi, Kenya which does business with companies based in Tanzania. From such
trade, Jasper Ltd. expects the following cash flows in the next six months, in the currencies specified:

Payments due in 3 months : Ksh.116,000
Receipts due in 3 months  :  Tsh.1,970,000
Payments due in 6 months :  Tsh.4,470,000
Receipts due in 6 months @ Tsh.1,540,000

The exchange rates in the Nairobi market are as follows:

Tsh/Ksh
Spot 17.106 — 17.140
Three months forward 0.82 - 0.77 cents premium
Six months forward 1.39 — 1.34 cents premium
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Interest rates

Borrowing Lending
Ksh. 12.5% 9.5%
Tsh. 9% 6%
Required:

The net Kenya shilling receipts/payments that Jasper Ltd. might expect for both its three month and six month
transactions if the company hedges foreign exchange risk on the:

(i) Forward foreign exchange market. (6 marks)

(i) Money market. (6 marks)
(Total: 20 marks)

..............................................................................
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Present Value of 1 Received at the End of 1 Periods:
PVIF, = 1/(1+r)"=(1+r)"

Period

1%
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%
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OA WA -

40
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.9901
.9803
9706
9610
9515

8420
9327
9235
9143
9053

8360
8277
8195

8963
.8874
8787
.8700
8613

8528
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7418
6717

.5504

.9804
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9057
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.8706
8535

8203
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7730
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.7430
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7142
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4529
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.3048

9709
9426
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.888s
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7664
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6810
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.6050
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5537
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2281
1697

9615
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.8548
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7599
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.7026
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6496
6246
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4746
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3751
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.2083
.14q7
.0951
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8396
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4173

3936
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3503
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.2330
A74
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.0543
.0303
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7629
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6227
.5820
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.5083

4751
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3387
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.2959
2765

1842
1314

.0333
.0173

9259
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a8
3677
3405
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2703
2502
217
2145

9174
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7084
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5470

5019

4224

.3875

3555

.3262

2745

2519
2
2120
1845
AT84

1180

0754
.0318
0134
0057

.9091
8264
7513
.6830
.6209

.5645
5132
4665
4241
.3855

3505
3186
2897

2384

2176
13578
1793
1635

0923
0573
0221
0085
0033

1486

.8929
7972
.T118
8355
5674

.4523
4039
.3606
3220

.2875
2567
2292
1827

1631
1456

1161

1037

.0588
0334
.0107
.0035
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8172

7695
6750
S921

5194

4556

3506

3075
2697

.2366
2076
1821
1597

1401

1229
1078
0846

0728

7561
6575
5718
A972

4323
37159
3269
.2843
2472

2149

1625
1413
1229

1069
0929

0703
0611

0304
0151
0037

.8621
7432

.5523
AT761

4104
.3538
.3050
.2630
2267

1954
1685
1452
1252
1073

.0930
0691
0596
0514
0245
0116
0026

.0001

8475
.7182
.6086
5158
4371

3704
3138
.2660
.2255
A911

1619
1372
1163
0885
0835

0708
0431
0365
0160

0070
0013

8333

5787
4823
.4019

3349
213
2326
1938
1615

1346
1122
.0935
0779

0541
.0451
0376
0313
0261

0105

.0007
0001

6504
5245
4230
3411

2754
2218

1443
1164

.0938
07157
0610
0492
0397

.0320
.0258
.0208
.0168
0135

0016
.0002

7813
6104
4768
3125

2910

2274
‘1776
1388

0847

.0517

0316
.0247

0193
.0150
.0118
.0072
0021

0001

1576

5739

4348
3294

2495

1830

1432
1085

0822
0623

0472
0357
0271
0205
0185

0118

.0051

.0039

0010

0002

1353
5407

3975

.2923
2149

.1580
1162
0854
0628
0462

* The factor is zero to four decimal places
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6.0021
. 6.7327
7.4353
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$.0757
5.7864
6.4632
7.
1.7217
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10.3797

0.9434
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25T
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7.13%0
7.5361
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10.6748
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2.5313
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3.8897
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5.0330
5.5348
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6.4177

6.8052
7.1607
7.4869
7.7862
8.0607

8.3126
8.5436
8.7556
8.9501
9.1285

9.8226
10.2737
10.7574
10.9617
11.0480

0.9091
1.7355
2.4869
3.1699
3.7908

4.3553
4.8684
5.3349
5.75%0
6.1446

6.4951
6.8137
7.1034
1.3667
7.6061

7.8237
8.0216
8.2014
8,3649
8.5136

9.0770
9.4269
9.7791
9.9148
99672

0.8929 0
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24018
3.0373

36048 3

41114 3.
4.5638 4.
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53282 4
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6.1944 5.
6.4235
6.6282
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6.974Q
7.1196
7.2497
7.3658 6.
7.4694

7.8431
8.0552
8.2438
8.3045
23240

5.

6.
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6.

6.
7.
&
1.
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8772

1.6467
2.3216

4331

0.8696
1.6257
2.2832
29137 28350
3.3522

3.7845

2883 4.1604
6389 4.4873

9464 47716
2161 50183

4527 52337

6603

5.8424
6.0021

5.4206
5.5831
5.7245
6.1422 58474

2651 59542
3729 6.0472
4674 6.1280
5504  6.1982

6.6231 6.2593

8729 6.4641
0027 6.5660
1050 6.6418
1327 6.6605
1401 66651

0.8621
1.6052
2.2453
2.7982
3.2743

3.6847
4.0386
4.3436
4.6065
4.8332

5.0286
5.1971
5.3423
5.4675
$.5755

5.6685
5.7487
5.8178
58775
5.9288

6.0971
6.1772
6.2335
5.2463
6.2402

0.8475
1.5656
21743
2.6901
31272

3.4976
3.8115
4.077¢
4.3030
4.45941

4.6560
4.7932
4.9095
5.0081
5.0916

5.1624
5.2223
$.2732
5.3162
5.3527

5.4669
5.5168
5.5482
3.5541
55553

0.8333
1.5278
2.1065
2.5887
2.9506

3.3255
3.6046
3.8372
4.0310
41925

43271
4.4392
4.5327
4.6106
4.6755

4.7296
4.7746
48122
4.8435
4.8696

4.9476
4.9789
4.9966
4.9995
4.9999

0.8065
1.4568
1.9813
24043
2.7454

3.0205
3.2423
34212
3.5655
3.6818

3.7757
3.8514
3.9124
3.9616
4.0013

4.0333
4.0591
4.0799
4.0967
4.1103

4.1474
4.1601
4.1659
4.1666
4.1667

0.7813 0.7576
13916 1.3315
1.8684 1.7663
22410 20957
25320 23452

27594 25342
29370 26775
3.0758 2.7860
3.1842 2.8681
3.2689 29304

33351 29776
33868 30133
3.4272 3.0404
3.4587 30609
3.4834 30764

3.5026 3.0882
35177 3.0971
35294 31039
3.5386 31090
3.5458 31129

35640 31220
35693 31242
35712 31250
3.5714 31250
35714 31250



b4

0.0
0.1
0.2
0.3
0.4

0.5
0.6
0.7
0.8
0.9

1.0
1.1
1.2
1.3
1.4

1.5
1.6
1.7
1.8
1.9

2.0
2.
2.2
2.3
2.4

2.5
2.6
2.7
2.8
2:9

3.0
3.1
3.2
3.3
3.4

3.5
3.6
3.7
3.8
3.9

NORMAL CURVE

STANDARD
NORMAL CURVE

.0000
.0398
.0793
179
.1554

1915
.2258
.2580
.2881
.3159

.3413
.3643
.3849
.4032
4192

4332
.4452
.4554
4641
4713

4772
.4821
.4861
.4893
4918

.4938
4953
.4965
4974
.4981

.4987
.4990
.4993
.4995
.4997

.4998
.4998
.4999
.4999
.5000

.0239
.0636
1026
.1406
A772

.2123
.2454
.27C4
.3051
3315

.3554
3770
.3962
4131
4279

4406
.4515
.4608
.4686
4750

.4803
.4846
.4881
.4909
14931

4948
.4961
4971
.4979
.4985

.4989
.4992
4994
.499%
.4997

.4998
.4999
.4999
4999
.5000

7

.0279
.0675
A0e4
.1443
.1808

.2157
.2486
.2794
.3078
.3340

3577
.3790
.3980
4147
4292

.4418
.4525
.4616
4693
4756

.4808
.4850
4884
4911
4932

.4949
4962
4972
4979
.4985

.4989
.4992
4995
.4996
.4997

.4998
4999
.4999
.4999
.5000

8

.0319
.0714
1103
.1480
1844

.2190
.2518
.2823
.3106
.3365

.3599
.3810
3997
4162
.4306

4429
4535
4625
4699
4761

4812
.4854
.4887
49473
4934

.4951
4963
4973
.4980
.4986

4990
.4993
.4995
4396
.4997

.4998
.4999
.4999
4999
5000 .

9

.0359
.0754
A141
1517
1879

.2224
.2549
.2852

3133

.3389

.3621
.3830
4015
4477
4319

4441
.4545
4633
.4706
4767

48147
.4857
.4890
.4916
4936

4952
.4964
4974
.4981
.4386

.4990
.4993
.4995
4997
4998

.4998
.4999
.4999
.4999

5000




